
BOLETÍN 6: ECUACIONES

2.- Resuelve las siguientes ecuaciones.

a) x+3=4 b) b−1=8 c) a+5=11 d) 2−z=4

e) 1=9− X f)  4 B=20 g) 
x

2
=1 h) 8=4 t

i)  
x

5
=2 j)  3 A −2=0 k) 4 a+5=13 l)  

x

3
−2=3

m) 8N −5N=N+8 n)  5n−7=2−4 n o)  3 x+ x+4=2x+10

p)  8−b=3b+2b+5 q)  6 P−9+3 P−2−5 P=P−6−3P+1

r)  1=6 y −4 y s)  2=11 n−5n t)  4=2m−7m

X = 4 - 3 b = 0 + 1 a = 1-S - z = 4- 2

x = 1 b = 9 a = 6
- z = 2

z = -2

1- 9 = - X

- O = - X

B= X = 1 - 2 & =t

8 =X
B = S X = 2 2 = t

3A = 2
4a= 13 -S

X = 2 - S

ua=8 * = 3 + 2

X =10
A= E

a = * * =5-

↳

a = m X = 5 .3

X = 15

3N = N + 8 5n + un = 2+ 7 4x + 4 = 2x + 10

3N - N=
an = 9 ux - 2x = 10 -Y

2N = 2
n = 2x = 6

N = 9

Z x =
n =1 2

N =Y X = 3

- --... -- ->

8 - b = 5b + S 4P - 1 = - 2P - S

- b - 5b = 5 - 8 4P + 2P = -5 + 1

GP = 6
-

ob=3 P=
b = 1 P = 1

2

1 = 2y 2 = Gn 4 = - Sm

E =y = = n

E = m

= = n



u)  4 x− (2+x )=3 (x −1 ) v)  4 · ( x −2 )+3=1−3· (2−x )

w)  2 z−8=1−3 · ( z−2 ) x)  7h+3 · (5h−3 )− (5h+1 )=7 · (2h+2 )

3.- Resuelve las siguientes ecuaciones: 

a) 6 x−12+4 x−1=x−7 x+12−3 x+5 e) 7 x−4(2 x−5)=3 (5x−2)−6

b) 5 x−4 (2 x−3)=2 x−17 f) 2 x−(x+5)=6+(x+1)

c) 4 x+5−7 x=2(3 x−6)−1 g) 5(x−1)−6x=3x−9

d) 3 x+(x+5)=5 x−(3+2x ) h) 4−5 (2x+1)=−3 (4 x−5)

4X - 2 - x = 3x - 3 4x - 0 + 3 = 1 - 6 + 3x

sin
3x - 2 = 3x -3 4x - 5 = 3x - S

E

Solucion 3x -3x = -3 + 2 4X - 3x = - 5 + S

Ox = - 1 X = 0

2z - 8 = 1 - 3z + 6 En + 15h - 9 - 5h - 1 = /Un + 14

2z - 8 = 7 -37 17h - 10 = 14h + 14

2z + 37 = 7 + 2 17h - 14h = 14 + 10

5 z = 15 3h = 24

z=
S

n = 24 n = Z

3
z = 3

-- -

10X - 13 = - 9X + 17
7x - 8x + 20 = 15x- 6 - 6

10X +9x = 17 + 13
- X + 20 = 15X - 12

19 X = 30
- X - 15x = - 12 - 20

*=
- 16x = - 32

19

x=-
X = 2

5x - 0x + 12= 2x- 17 2x - X - 8 = 6 + x + 1

- 3 x + 12= 2X - 17 X- 5 = 7 + X

X - X = 7 + 5
- 3x -

2X =
- 17 - 12

OX = 12

- 5x = - 29

No tiene

=
-La

s

Solución

X = 2
S



4x + 5 -7x = 6x - 12 - 1 5x - 5 -6x = 3x- 9

- 3x + 5 = 6x - 13 - x - 5 = 3x- 9

- 3x - 6x = -13 -S
- x - 3x = -9 + 5

-9x = - 18
- ux = - 4

X =
- 4
mx = = - U

X = 2
X = 1

3x + x + 5 = 5x -3 - 2x 4 - 10X - 5 = - 12x + 15

ux + 5 = 3x -3 - 1 - 10X = -12X + 15

4x - 3x = -3 -S 12x - 10x = 15 +

X = - B 2x = 16

x =
Z

X =


